
GASFEED: 45 oC, 35 bar, 3000 kmol/hr, Components mole %: N2 = 5.4, C1 = 88, C2 = 4.2, 

C3 = 1.3, i-C4 = 0.4, n-C4 = 0.3, i-C5 = 0.2, n-C5 = 0.1, C6 = 0.1 

HPS1: 260 oC, 34.5 bar, 9000 kmol/hr, Components mole %: H2O = 100 

O2FEED: 250 oC, 36.5 bar, 807.544 kmol/hr, Components mole %: O2 = 99, N2 = 1.0  

BFW1: 50 oC, 42 bar, 3684.97 kmol/hr, Components mole %: H2O = 100 

BFW2: 50 oC, 42 bar, 10107.8 kmol/hr, Components mole %: H2O = 100 

AIR: 30 oC, 1.2 bar, 13184.9, Components mole %: O2 = 21, N2 = 79 

FUEL: 30 oC, 1.6 bar, 1227.15 kmol/hr, Components mole %: N2 = 5.4, C1 = 88, C2 = 4.2, 

C3 = 1.3, i-C4 = 0.4, n-C4 = 0.3, i-C5 = 0.2, n-C5 = 0.1, C6 = 0.1 

RK-ASPEN

(Pre-Reformer)(RStoic)

3 C2H6 + H2O → 5 CH4 + CO,   fractional conversion of C2 = 1.0 

3 C3H8 + 2 H2O → 7 CH4 + 2 CO,  fractional conversion of C3 = 1.0 

3 i-C4H10 + 3 H2O → 9 CH4 + 3 CO,  fractional conversion of i-C4 = 1.0 

3 n-C4H10 + 3 H2O → 9 CH4 + 3 CO,  fractional conversion of n-C4 = 1.0 

3 i-C5H12 + 4 H2O → 11 CH4 + 4 CO,  fractional conversion of i-C5 = 1.0 

3 n-C5H12 + 4 H2O → 11 CH4 + 4 CO,  fractional conversion of n-C5 = 1.0 

3 n-C6H14 + 5 H2O → 13 CH4 + 5 CO,  fractional conversion of n-C6 = 1.0 
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(RStoic)(RCSTR)

H2 + 0.5 O2 → H2O,  fractional conversion of O2 = 1.0 

(DS-3)

(FLUEGAS)

flue gas

(RStoic)

(DS-2)

2 H2 + O2 →  2 H2O,    fractional conversion of H2 = 1.0 

CH4 + 2 O2 → CO2 + 2 H2O,   fractional conversion of C1 = 1.0 

2 CO + O2 → 2 CO2,    fractional conversion of CO = 1.0 

C2H6 + 3.5 O2 → 2 CO2 + 3 H2O,   fractional conversion of C2 = 1.0 

C3H8 + 5 O2 → 3 CO2 + 4 H2O,   fractional conversion of C3 = 1.0 

n-C4H10 + 6.5 O2 → 4 CO2 + 5 H2O,  fractional conversion of n-C4 = 1.0 

i-C4H10 + 6.5 O2 → 4 CO2 + 5 H2O,  fractional conversion of i-C4 = 1.0 

n-C5H12 + 8 O2 → 5 CO2 + 6 H2O,  fractional conversion of n-C5 = 1.0 

i-C5H12 + 8 O2 → 5 CO2 + 6 H2O,  fractional conversion of i-C5 = 1.0 

n-C6H14 + 9.5 O2 → 6 CO2 + 7 H2O,  fractional conversion of n-C6 = 1.0 
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